

# SINDH ENVIRONMENTAL PROTECTION AGENCY GOVERNMENT OF SINDH.

Inf-KryNo. 2017/16 Dated: 08/May/2016

NIT Sr. No. SPPRA Serial No.28348

. SPPRA Tender ID No.SP2147483647

Method and Procedure of Procurement: Open Competitive Bidding (National Competitive Bidding)

(Single Stage One Envelope)

Name of ADP Scheme: -

"ESTABLISHMENT / CONSTRUCTION OF REGIONAL OFFICES

AT SUKKUR AND HYDERABAD AND FURNISHING OF EPA

BUILDING KORANGI INDUSTRIAL AREA, KARACHI."

#### MINUTES OF MEETING FOR OPENING FINANCIAL BID

The meeting was started with the reciting of verses of Holy Quran. The following 3 bidders purchased the bidding documents and submitted the sealed on 26-05-2016.

USS Enterprises

Yaseen Traders

Copy of Attendance Sheet attached.

· Sajid Traders

The committee started the proceeding of opening of tender in front of aforementioned bidders and read loudly the names and bid amount of each bidders one by one opening their respective details as depicted under:

# A - Head: Procurement of Furniture & Fixture

# A(i) -Item: Furniture for the Auditorium at Karachi

S#	Item	Qty	M/S USS E	nterprises	M/S Yaseen I	Enterprise	M/S Sajid	Traders
			Rate Per	Total	Rate Per	Total Cost	Rate Per	Total
			Item	Cost	Item	Per Item	Item	Cost
1	Seminar hall	150	10,000	1500000	10,150	1522500	10,300	1545000
2	Head Table	1	45,000	45000	45,150	45150	45,300	45300
3	Presiding Sofa	6	15,000	90000	15,100	90600	15,200	91200
4	Rostrum	1	15,000	15000	15,100	15100	15,200	15200
5	Blinds for windows	15	3,000	45000	3,100	46500	3,100	46500
	Total			1,695,000		1,719,850		1,743,200

S.No.	Name of Firm Bidder	Quoted bid amount in Rs:	Rank in
1.	USS Enterprises	Rs. 1695000/-	1 <sup>st</sup> lowest
2.	M/S Yaseen Enterprise	Rs. 1719850/-	2 <sup>nd</sup> lowest
3.	Sajid Traders	Rs. 1743200/-	3 <sup>rd</sup> lowest

As M/S USS Enterprises quoted Lowest rate therefore committee decided to procure Furniture for the Auditorium at Karachi from M/S USS Enterprises at above quoted price having Total Cost of Rs. 1,695,000/-

#### A(ii) -Item: Furniture for Meeting Hall at Karachi

S#	Item	Qt	M/S USS I	Enterprises	M/S Yasee	en Enterprise	M/S Sajid Traders		
			Rate Per	Total Cost	Rate Per	Total Cost	Rate Per	Total Cost	
			Item	Per Item	Item	Per Item	Item	Per Item	
1	Revolving Chairs	30	5,000	150000	5,100	153000	5,120	153600	
2	Round table for 30 person	1	200,000	200000	205,000	205000	210,000	210000	
3	Blinds for windows	3	5,000	15000	5,000	15000	5,000	15000	
	Total			3,65,000		3,73,000	Λ	3,78,600	

M. D.

S.No.	Name of Firm Bidder	Contractor quoted bid amount in Rs:	Rank in
1.	USS Enterprises	Rs.3,65,000/-	1 <sup>st</sup> lowest
2.	M/S Yaseen Enterprise	Rs. 3,73,000/-	2 <sup>nd</sup> lowest
3.	Sajid Traders	Rs. 3,78,600/-	3 <sup>rd</sup> lowest

As M/S USS Enterprises quoted Lowest rate therefore committee decided to procure Furniture for the Meeting Hall at Karachi from M/S USS Enterprises at above quoted price having Total Cost of Rs. 3,65,000/-

#### A(iii) -Item: Furniture for officers & Staff Regional office Sukkur

S	Item	Qt	M/S USS E	nterprises	M/S Yaseen	Enterprise	M/S Sajid	Traders
#			Rate Per	Total Cost	Rate Per	Total Cost	Rate Per	Total Cost
			Item	Per Item	Item	Per Item	Item	Per Item
1	Executive Table with Revolving Chair, side racks & 4 Visitors Chairs	2	90,000	180,000	91,000	182,000	91,500	183,000
2	Office Table with Revolving Chair, Side Rack, with 03 Visitors Chairs	6	60,000	360,000	60,000	360,000	60,000	360,000
3	Office Table Wooden for General Staff	20	20,000	400,000	20,000	400,000	20,000	400,000
4	Chairs wood with net	36	3,000	108,000	3,000	108,000	3,000	108,000
5	Steel Almirah Good Quality	20	20,000	400,000	20,000	400,000	20,000	400,000
6	Computer Table With Chairs Good Quality	2	20,000	40,000	21,000	42,000	21,500	43,000
7	Curtains Blinds including installation	30	3,000	90,000	3,100	93,000	3,200	96,000
	Total			1578000		1585000		1590000

S.No.	Name of Firm Bidder	Quoted bid amount in Rs:	Rank in
1.	USS Enterprises	Rs. 1578000/-	1 <sup>st</sup> lowest
2.	Danyal Traders	Rs.1585000 /-	2 <sup>nd</sup> lowest
3.	Sajid Traders	Rs. 1590000/-	3 <sup>rd</sup> lowest

As M/S USS Enterprises quoted Lowest rate therefore committee decided to procure Furniture for the officers & Staff at Sukkur from M/S USS Enterprises at above quoted price having Total Cost of Rs. 1578000/-

#### A(iv) -Item: Furniture for Establishment of Laboratories at Sukkur

S#	Item	Item Qty	M/S USS Ente	rprises	M/S Yaseen E	nterprise	M/S Sajid T	raders
			Rate Per Item	Total Cost Per Item	Rate Per Item	Total Cost Per Item	Rate Per Item	Total Cost Per Item
1	Iron Racks	15	15000	225000	15,500	232500	15,600	234000
	Total			2,25,000		232500		2340000

S.No.	Name of Firm Bidder	Contractor quoted bid amount in Rs:	Rank in
1.	USS Enterprises	Rs. 225000/-	1 <sup>st</sup> lowest
2.	M/S Yaseen Enterprise	Rs. 232500/-	2 <sup>nd</sup> lowest
3.	Sajid Traders	Rs. 234000/-	3 <sup>rd</sup> lowest

As M/S USS Enterprises quoted Lowest rate therefore committee decided to procure Furniture for the Establishment of Laboratories at Sukkur from M/S USS Enterprises at above quoted price having Total Cost of Rs. 2,25,000/-

# A(v) -Item: FURNITURE FOR THE CONFERENCE HALL AT SUKKUR

S#	Item	Qt	M/S USS Enterprises M/S Yaseen Enterprise			M/S	Sajid Traders		
			Rate Per Item	Total Cost Per Item	Rate Per Item	Total Cost Per Item		te Per tem	Total Cost Per Item
1	Conference Hall Chair	80	6000	480000	6200	496000		6300	504000
2	Sofa Chairs for Stage	5	9000	45000	9200	46000		9300	46500
3	Stage table for auditorium	1	35000	35000	35200	35200		35300	35300
4	Stage for auditorium	1	40000	40000	40200	40200		40500	40500
5	Blinds	3	5000	15000	5100	15300		5200	15600
	Total			6,15,000		632700			641900

S.No.	Name of Firm Bidder	Quoted bid amount in Rs:	Rank in
1.	USS Enterprises	Rs6,15,000/-	1 <sup>st</sup> lowest
2.	M/S Yaseen Enterprise	Rs. 632700/-	2 <sup>nd</sup> lowest
3.	Sajid Traders	Rs. 641900/-	3 <sup>rd</sup> lowest

As M/S USS Enterprises quoted Lowest rate therefore committee decided to procure Furniture for the Furniture For the Conference Hall at Sukkur from M/S USS Enterprises at above quoted price having Total Cost of Rs. 6,15,000/-

# A(vi) -Item: FURNITURE FOR THE MEETING HALL AT SUKKUR

S#	Item	Qty	M/S USS Enterprises		M/S Yaseen Ent	terprise	M/S	S \$ajid Traders	
			Quoted Rate Per Item	Total Cost Per Item	Quoted Rate Per Item	Total Cost Per Item		ted Rate r Item	Total Cost Per Item
1	Meeting Hall chairs	30	8,000	240000	8,200	246000		8,300	249000
2	Chairman Chairs	1	12,000	12000	12,100	12100		12,300	12300
3	Conference Room Table	1	300,000	300000	310,000	310000		315,000	315000
4	Rostrum	1	18,000	18000	18,200	18200		18,300	18300
5	Blinds for Windows	3	5,000	15000	5,100	15300		5,200	15600
	Total			585000		601600			610200

S.No.	Name of Firm Bidder	Quoted bid amount in Rs:	Rank in
1.	USS Enterprises	Rs585000/-	1 <sup>st</sup> lowest
2.	M/S Yaseen Enterprise	Rs. 601600/-	2 <sup>nd</sup> lowest
3.	Sajid Traders	Rs. 610200/-	3 <sup>rd</sup> lowest

As M/S USS Enterprises quoted Lowest rate therefore committee decided to procure Furniture for the Furniture For The Meeting Hall at Sukkur from M/S USS Enterprises at above quoted price having Total Cost of Rs. 5,85,000/-

# A(vii) -Item: Furniture for officers & Staff Regional office Hyderabad

S#	Item	Qt	M/S USS	Enterprises	M/S Yaseen	Enterprise	M	/S Sajid T	raders
		У	Rate Per Item	Total Cost Per Item	Rate Per Item	Total Cost Per Item	R	ate Per Item	Total Cost Per Item
1	Executive Table Revolving Chair with side rack 6 Visitors Chairs	1	140000	140000	141000	141000		142000	142000
2	Executive Table with 1 side racks & 1 Executive Revolving Chair and 4 Visitors Chairs	3	90000	270000	91000	273000		91500	274500
3	Office Table , 1 Side Rack, 1 Revolving Chair for Assistant Director with 03 Visitors Chairs	6	60000	360000	60000	360000		60000	360000
4	Office Table Wooden for General Staff	20	20000	400000	20000	400000		20000	400000

M. D.

July

	Total			1,858,000		1869000		1876500
9	Sofa Set with Table	1	50000	50000	52000	52000	53000	53000
8	Curtains Blinds including installation	30	3000	90000	3100	93000	3200	96000
7	Computer Table With Chairs Good Quality	2	20000	40000	21000	42000	21500	43000
6	Steel Almirah Good Quality	20	20000	400000	20000	400000	20000	400000
5	Chairs wood with net	36	3000	108000	3000	108000	3000	108000

S.No.	Name of Firm Bidder	Quoted bid amount in Rs:	Rank in
1.	USS Enterprises	Rs. 1,858,000/-	1 <sup>st</sup> lowest
2.	Danyal Traders	Rs.1,869,000 /-	2 <sup>nd</sup> lowest
3.	Sajid Traders	Rs. 1,876,500/-	3 <sup>rd</sup> lowest

As M/S USS Enterprises quoted Lowest rate therefore committee decided to procure Furniture for the officers & Staff at Hyderabad from M/S USS Enterprises at above quoted price having Total Cost of Rs. 1,858,000/-

# A(viii) -Item: Furniture for Establishment of Laboratories at Hyderabad

S#	Item	Qty	M/S USS Enterprises		M/S Yaseen Er	M/S Sajid	Traders		
			Quoted Rate	Total Cost	Quoted Rate	Total Cost	Quoted F	ate Per	Total Cost
			Per Item	Per Item	Per Item	Per Item	Ite	m	Per Item
1	Iron Racks	15	15000	225000	15,500	232500	15,6	00	234000
	Total			225000		232500			2340000

S.No.	Name of Firm Bidder	Quoted bid amount in Rs:	Rank	in
1.	USS Enterprises	Rs. 225000/-	1 <sup>st</sup> low	rest
2.	M/S Yaseen Enterprise	Rs. 232500/-	2 <sup>nd</sup> lov	vest
3.	Sajid Traders	Rs. 234000/-	3 <sup>rd</sup> lov	vest

As M/S USS Enterprises quoted Lowest rate therefore committee decided to procure Furniture for the Establishment of Laboratories at Hyderabad from M/S USS Enterprises at above quoted price having Total Cost of Rs. 225000/-

#### A(ix) -Item: FURNITURE FOR THE CONFERENCE HALL AT HYDERABAD

S#	Item	Qty	M/S USS	Enterprises	M/S Yas	een Enterprise	M/S Sajid Traders		
			Rate Per Item	Total Cost Per Item	Rate Per Item	Total Cost Per Item	Rate Per Item	Total Cost Per Item	
1	Conference Hall Chair	80	6000	480000	6200	496000	6300	504000	
2	Sofa Chairs for Stage	5	9000	45000	9200	46000	9300	46500	
3	Stage table for auditorium	1	35000	35000	35200	35200	35300	35300	
4	Stage for auditorium (for 5 Persons)	1	40000	40000	40200	40200	40500	40500	
5	Blinds	3	5000	15000	5100	15300	5200	15600	
	Total			615000		632700		641900	

S.No.	Name of Firm Bidder	Quoted bid amount in Rs:	Rank in
4.	USS Enterprises	Rs6,15,000/-	1 <sup>st</sup> lowest
5.	M/S Yaseen Enterprise	Rs. 6,32,700/-	2 <sup>nd</sup> lowest
6.	Sajid Traders	Rs. 6,41;900/-	3 <sup>rd</sup> lowest

M.D.

1/

h

As M/S USS Enterprises quoted Lowest rate therefore committee decided to procure Furniture for the Furniture For the Conference Hall at Hyderabad from M/S USS Enterprises at above quoted price having Total Cost of Rs. 6,15,000/-

A(x) -Item: FURNITURE FOR THE MEETING HALL AT HYDERABAD

S#	Item	Qty	M/S USS E	interprises	M/S Yaseen	Enterprise	M/S	\$ Sajid Traders	
			Rate Per Item	Total Cost Per Item	Rate Per Item	Total Cost Per Item		ate Per Item	Total Cost Per Item
1	Meeting Hall chairs	30	8,000	240000	8,200	246000		8,300	249000
2	Chairman Chairs	1	12,000	12000	12,100	12100		12,300	12300
3	Conference Room Table (for 30 Persons).	1	300,000	300000	310,000	310000		315,000	315000
4	Rostrum	1	18,000	18000	18,200	18200		18,300	18300
5	Blinds for Windows	3	5,000	15000	5,100	15300		5,200	15600
	Total			585000		601600			610200

S.No.	Name of Firm Bidder	Quoted bid amount in Rs:	Ra	nk in
1.	USS Enterprises	Rs585000/-	1 <sup>st</sup>	lowest
2.	M/S Yaseen Enterprise	Rs. 601600/-	2 <sup>nc</sup>	lowest
3.	Sajid Traders	Rs. 610200/-	3 <sup>rd</sup>	lowest

As M/S USS Enterprises quoted Lowest rate therefore committee decided to procure Furniture for the Furniture For The Meeting Hall at Hyderabad from M/S USS Enterprises at above quoted price having Total Cost of Rs. 585000/-

# B - Head: Procurement of Machinery & Equipment

B-(i) -Item: Air-Conditioning Equipment for Auditorium Hall at Karachi

S#	Item	Qty	M/S USS Enterprises		M/S Yaseen	Enterprise	M/S Sajid Traders		
			Rate Per Item	Total Cost Per Item	Rate Per Item	Total Cost Per Item	Rate Per Item	Total Cost Per Item	
1	Supplying & Fixing Split A/C Air Condition 4.0 Ton with Stabilizer.	4	225,000	900000	226,000	904000	227,000	908000	
2	Water Dispensers	2	17,000	34000	17,100	34200	17,200	34400	
	Total			934000		938200		942400	

S.No.	Name of Firm Bidder	Contractor quoted bid amount in Rs:	Mathematically corrected Bid amount in Rs:	Rank in
1.	USS Enterprises	Rs. 934000		1 <sup>st</sup> lowest
2.	Danyal Traders	Rs. 938200/-		2 <sup>nd</sup> lowest
3.	Sajid Traders	Rs. 942400/-		3 <sup>rd</sup> lowest

As M/S USS Enterprises quoted Lowest rate therefore committee decided to procure Air-Conditioning Equipment\_for the Auditorium at Karachi from M/S USS Enterprises at above quoted price having Total Cost of Rs. 9,34,000/-

# B-(ii) -Item: Multi Media Projection System For Auditorium

S#	Item	Qt	M/S USS En	terprises	M/S Yasee	n Enterprise	M/S Sajid 1	raders
		У	Rate Per	Total Cost	Rate Per	Total Cost	Rate Per	Total Cost
			Item	Per Item	Item	Per Item	Item	Per Item
1	Multimedia Projector	2	150,000	300,000	151,000	302,000	152,000	304,000
2	Projection Screen 8 x 6 Feet	2	25,000	50,000	25,500	51,000	26,000	52,000
3	VGA Cables Heavy Duty	6	12,000	72,000	12,500	75,000	13,000	78,000
4	HDMI Cables Heavy Duty	2	15,000	30,000	15,500	31,000	16,000	32,000
5	Distributors. VGA, HDMI, AV, USB, KVM	5	13,000	65,000	13,500	67,500	14,000	70,000
6	DVD Player Panasonic / Sony With SD Input	1	40,000	40,000	41,000	41,000	42,000	42,000
7	USB Extended Cables	2	30,000	60,000	31,000	62,000	32,000	64,000
7	Cable For AV System Distribution	1	45,000	45,000	45,500	45,500	46,000	46,000
8	Remote Extenders With Dual Receivers	1	30,000	30,000	32,500	32,500	33,000	33,000
10	Dell Hi Res. 18" LCD Monitor W/Table Stand	3	25,000	75,000	26,000	78,000	27,000	81,000
	Total			767,000		785500		802000

S.No.	Name of Firm Bidder	Contractor quoted bid amount in Rs:	Mathematically corrected Bid amount in Rs:	Rank in
4.	USS Enterprises	Rs. 767,000/-		1 <sup>st</sup> lowest
5.	Danyal Traders	Rs. 785500/-		2 <sup>nd</sup> lowest
6.	Sajid Traders	Rs. 802000/-		3 <sup>rd</sup> lowest

As M/S USS Enterprises quoted Lowest rate therefore committee decided to Equipment\_for the Auditorium at Karachi from M/S USS Enterprises at above quoted price having Total Cost of Rs. 767,000 /-

# B-(iii) -Item: Audio & Visual Equipment for Meeting Hall at Karachi

S#	Item	Qty	M/S USS E	nterprises	M/S Yaseen Enterprise		M/S Sajid Traders	
			Rate Per	Total	Rate Per	Total Cost	Rate Per	Total
			Item	Cost Per Item	Item	Per Item	Item	Cost Per Item
1	Chairman Microphone	1	30,000	30,000	31,000	31,000	32,000	32,000
2	Delegate Microphone	10	20,000	200,000	20,800	208,000	21,000	210,000
3	Conference Control & Supply Unit	1	150,000	150,000	152,000	152,000	153,000	153,000
6	Amplifier PLN- 2AIO120. 2 Zone	1	80,000	80,000	81,000	81,000	82,000	82,000
7	Column Speakers. Wall Mount 30 Watts Column Speakers System	4	25,000	100,000	26,000	104,000	27,000	108,000
8	Multimedia Projector	1	140,000	140,000	142,000	142,000	145,000	145,000
	Total			700,000		718,000		730,000

S.No.	Name of Firm Bidder	Contractor quoted bid amount in Rs:	Mathematically corrected Bid amount in Rs:	Rank in
1.	USS Enterprises	Rs. 700,000 /-		1 <sup>st</sup> lowest
2.	Danyal Traders	Rs.718,000 /-		2 <sup>nd</sup> lowest
3.	Sajid Traders	Rs. 730,000 /-		3 <sup>rd</sup> lowest

M. D.

Jh

As M/S USS Enterprises quoted Lowest rate therefore committee decided to procure Multimedia Equipment\_for the Meeting Hall at Karachi from M/S USS Enterprises at above quoted price having Total Cost of Rs. 700,000 /-

# B-(iv) -Item: Office Equipment for Regional office Sukkur

S#	Item	Qty	M/S USS Enterprises		M/S Yaseen Enterprise		M/S Sajid Traders		
			Rate Per Item	Total Cost Per Item	Rate Per Item	Total Cost Per Item	Rate Per Item	Total Cost Per Item	
1	Photo state Machine	1	90000	90000	91000	91000	92000	92000	
2	Fax Machine	1	25000	25000	25200	25200	25300	25300	
3	Computer with LCD, printer and Accessories	10	90000	900000	91000	910000	92000	920000	
	Total			1015000		1026200		1037300	

S.No.	Name of Firm Bidder	Quoted bid amount in Rs:	Rank in
4.	USS Enterprises	Rs1015000/-	1 <sup>st</sup> lowest
5.	M/S Yaseen Enterprise	Rs. 1026200/-	2 <sup>nd</sup> lowest
6.	Sajid Traders	Rs. 1037300/-	3 <sup>rd</sup> lowest

As M/S USS Enterprises quoted Lowest rate therefore committee decided to procure Furniture for the Furniture For The Meeting Hall at Sukkur from M/S USS Enterprises at having Total Cost of Rs. 1015000/-

# B-(v) -EQUIPMENTS FOR THE CONFERENCE ROOM & Meeting Hall AT SUKKUR

S#	Item	ltem Qty		M/S USS Enterprises		M/S Yaseen Enterprise		Sajid Traders	
			Rate Per Item	Total Cost Per Item	Rate Per Item	Total Cost Per Item	11.05.00	te Per tem	Total Cost Per Item
1	Air conditioner 2 ton & Stabilizers with installation for Conference Hall	3	100000	300000	105000	315000		106000	318000
2	Air conditioner 2 ton & Stabilizers with installation for Meeting Hall	3	100000	300000	105000	315000		106000	318000
3	Audio Visual Projection System for Conference Hall	1	450000	450000	455000	455000		460000	460000
4	Audio Visual Projection System for Meeting Hall	1	650000	650000	655000	655000		660000	660000
5	Water Dispenser	2	17000	34000	17100	34200		17200	34400
6	Generator 25 K.V	1	1000000	1000000	1100000	1100000	1	150000	1150000
7	Crockery for 50 persons for meeting Hall	1	30000	30000	31000	31000		31500	31500
	Total			2764000		2905200			2971900

S.No.	Name of Firm Bidder	Quoted bid amount in Rs:	Rank in
1.	USS Enterprises	Rs. 1578000/-	1 <sup>st</sup> lowest
2.	Danyal Traders	Rs.1585000 /-	2 <sup>nd</sup> lowest
3.	Sajid Traders	Rs. 1590000/-	3 <sup>rd</sup> lowest

MA

1

Ju

As M/S USS Enterprises quoted Lowest rate therefore committee decided to for the officers & Staff at Sukkur from M/S USS Enterprises at above quoted price having Total Cost of Rs. 1578000/-

### B-(vi) -Office Equipment for Regional office Hyderabad

S#	Item	Qty	M/S USS Enterprises		M/S Yaseen Enterprise		M/S Sajid Traders		
			Rate Per Item	Total Cost Per Item	Rate Per Item	Total Cost Per Item	Rate Per Item	Total Cost Per Item	
1	Photo state Machine	1	90000	90000	91000	91000	92000	92000	
2	Fax Machine	1	25000	25000	25200	25200	25300	25300	
3	Computer with LCD, printer and Accessories	10	90000	900000	91000	910000	92000	920000	
	Total			1015000		1026200		1037300	

S.No.	Name of Firm Bidder	Quoted bid amount in Rs:	Rank in
7.	USS Enterprises	Rs1015000/-	1 <sup>st</sup> lowest
8.	M/S Yaseen Enterprise	Rs. 1026200/-	2 <sup>nd</sup> lowest
9.	Sajid Traders	Rs. 1037300/-	3 <sup>rd</sup> lowest

As M/S USS Enterprises quoted Lowest rate therefore committee decided to procure Furniture for the Furniture For The Meeting Hall at Hyderabad from M/S USS Enterprises at above quoted price having Total Cost of Rs. 1015000/-

B-(vi) -EQUIPMENTS FOR THE CONFERENCE ROOM & Meeting Hall AT HYDERABAD

S#	Item	Qty	M/S	USS	M/S Yaseen Ei	nterprise	M/S Sajid	Traders
			Enterprise	es		VII.		
			Rate Per	Total	Rate Per	Total Cost	Rate Per	Total
			Item	Cost Per	Item	Per Item	Item	Cost Per
				Item				Item
1	Air conditioner 2 ton & Stabilizers with installation for Conference Hall	3	100000	300000	105000	315000	106000	318000
2	Air conditioner 2 ton & Stabilizers with installation for Meeting Hall	3	100000	300000	105000	315000	106000	318000
3	Audio Visaul Projection System for Conference Hall	1	450000	450000	455000	455000	460000	460000
4	Audio Visaul Projection System for Meeting Hall	1	650000	650000	655000	655000	660000	660000
5	Water Dispenser	2	17000	34000	17100	34200	17200	34400
6	Generator 25 K.V	1	1000000	1000000	1100000	1100000	1150000	1150000
7	Crockery for 50 persons for meeting Hall	1	30000	30000	31000	31000	31500	31500
	Total			2764000		2905200		2971900

S.No.	Name of Firm Bidder	Contractor quoted bid amount in Rs:	Rank in
1.	USS Enterprises	Rs. 2764000/-	1 <sup>st</sup> lowest
2.	Danyal Traders	Rs.2905200/-	2 <sup>nd</sup> lowest
3.	Sajid Traders	Rs. 2971900/-	3 <sup>rd</sup> lowest

MA

2971900/-

Jan 1

As M/S USS Enterprises quoted Lowest rate therefore committee decided to procure Furniture for the officers & Staff at Hyderabad from M/S USS Enterprises at above quoted price having Total Cost of Rs. 1578000/-

# C- RAISING OF COMPOUND WALL ARROUND THE BUILDING OF ENVIRONMNET PROECTION SUKKUR

S#	Item	Qty	M/S Ma	xhar	M/S Shama		M/S ASK	
			Quoted Rate Per Item	Total Cost Per Item	Quoted Rate Per Item	Total Cost Per Item	Quoted Rate Per Item	Total Cost Per Item
1	Pacca brick work other then building including stricking of joints upto feet height (C.S.I No.7(e) Page No.22)	3258	90000	350,000.00	91000	40,000.00	12,346.65	420,500.00
2	Cement plaster upto 20' height 1/2" thick ratio 1:6 (C.S.I No.13 (b) page No.52)	8532	60000	180,000.00	60000	180,000.00	2,206.60	190,267.00
3	Cement plaster upto 20' height 3/8" thick ratio 1:4 (C.S.I No.11 (a) page No.52)	8532	20000	167,000.00	20000	180,000.00	2,197.52	191,592.00
4	Destember three coats (C.S.I No.24© P-54)	21330	3000	300,000.00	3000	325,290.00	1,079.65	340,589.00
5	Painting guard bars, gates iron bars gratings, railings including standard braces (etc) and similar open work. Old surface three coats (C.S.I No.4(d-iii) Page No.69)	144	20000	1,407.00	20000	1,407.00	977.40	1,407.00
	Total			998,470.00		1,086,760.00		1,144,355.00

M.A.

S.No.	Name of Firm Bidder	Contractor quoted bid amount in Rs:	Rank in
4.	M/S Maxhar	Rs. 998,470.00 /-	1 <sup>st</sup> lowest
5.	M/S Shama	Rs.1,086,760.00 /-	2 <sup>nd</sup> lowest
6.	M/S ASK	Rs. 1,144,355.00 /-	3 <sup>rd</sup> lowest

As M/S M/S Maxhar quoted Lowest rate therefore committee decided to raise Of Compound Wall around the Building Of Environmental Projection Sukkur from M/S Maxhar at above quoted price having Total Cost of Rs. Rs Mubarak Ali 998,470.00 /sistant Director

Mukark Ali

Assistant Director EPA

ental Protection Agency

Dovernment of Sindle

Member

MUSARRAT MOKHTAR Deputy Director (Development)

Industries & Commerce Department Gevernment of Sindh

Musarrat Mokhtar Deputy Director

Industries Department

Irfan Ahmed Abbasi

Director (Admn. & Finance) Environmenta Protection Agency Government of Sindh

Director

Admin & Finance

Chairman

# **ATTENDANCE SHEET**

# FINANCIAL BIDS OPENING ON 1<sup>st</sup> June, 2016.

Name of ADP Scheme: -

"ESTABLISHMENT / CONSTRUCTION OF REGIONAL OFFICES AT SUKKUR AND HYDERABAD AND FURNISHING OF EPA BUILDING KORANGI INDUSTRIAL AREA, KARACHI."

S/NO.	NAME	DESIGNATION	ORGANIZATION	SIGNATURE
1.	SIF Sanzi	Manage & Davidomet	M/SUSS EnjerPrise	A god
2.	Sasid	Bunn	MIS Sasid Enter posse	Suf
3.	Mathax Memon	Managar	M/s Mazhax	M
4.	Muhammoel Foxoof	ownex	M/S Nascen Enter Prise	More
5.	Ancel Kumax	owner	73.4 8MM	A-72
6.	Deles Kumas	owns	Ms Shama	Qi
7.	g ,		(, Depi	SARRAT MOKHTA uty Director (Development) ies & Commerce Department
	11.1		3	Sovernment of Sindh

Assistant Director EPA

Mubal Ambertor

Assistant Direction Agency

Assistant Protection Agency Rayironmental Protection Agency Government of Sindh

Musarrat Mokhtar Deputy Director

Industries Department

Irfan Ahmed Abbasi Director (Admn. & Finance) Environmental Protection Agency Government of Sindh

Director

Admin & Finance/Chairman



# **ENVIRONMENTAL PROTECTION AGENCY**

Method and Procedure of Procurement: Open Competitive Bidding (National Competitive Bidding)
(Single Stage One Envelope)

### BIDEVALUATION REPORT

1	Name of Procuring Agency	Environme	ental Protect						
2	Tender Reference No:		Inf-KryN	o. 2017/16	,				
3	Tender description / name of work / item		AND HYD	HMENT / CON ERABAD AND L AREA, KAR	OFFICES AT SUBUILDING KO				
4	Method of Procurement:	Method of Procurement:							
5	Tender published		Express Tri	bune Newspa	per on 08 My, 20	16			
			NIT Sr. I	No. SPPRA					
6			<u>06</u>						
7	Total Bids Received:	<u>06</u>							
8	Technical Bid Opening Date (if applicable	<u>06</u>							
9	No. of bid technically qualified (if applica	No. of bid technically qualified (if applicable):			06				
10.	Bids rejected		Nil				1		
11.	Financial bid opening date		14-03-2016						
S. No	Name of firm of Bidder	Cost of Bidder	fered by the	Ranking in terms of cost	Comparison with Estimated cost	Reasons	for nce / Rejection	Remai	
1.	Procurement of Furniture & Fixture M/S USS Enterprises	Rs. 8,346,000 /-		1 <sup>st</sup> lowest	At Par		der and other documents are		
2.	TOTAL Machinery Equipment M/S USS Enterprises	Rs. 9,959,000 /-		1 <sup>st</sup> lowest	At Par	Pay order and other required documents are available			
3.	RAISING OF COMPOUND WALL ARROUND THE BUILDING OF ENVIRONMNET PROECTION SUKKUR	Rs. 998,4	470.00 /-	1 <sup>st</sup> lowest	At Par		der and other documents are e	> -	

Mubark Alimental Protection Agency
Assistant Director EPA
Member

MUSARRAT MOKHTAR
Deputy Director (Development)

Musarrat Moliduatries & Commerce Department
Deputy Director Government of Sindh

Industries Department

Irfan Ahmed Abbasi Director (Adum, & Finance) Environmental Protection Agency

Government of Sindh -

Director

Admin & Finance Chairman



# ENVIRONMENTAL PROTECTION AGENCY GOVERNMENT OF SINDH. BIDDERS QUALIFICATION REPORT

Inf-KryNo. 2017/16 Dated: 08/May/2016

NIT Sr. No. SPPRA Serial No.28348

Method and Procedure of Procurement: Open Competitive Bidding (National Competitive Bidding)

(Single Stage One Envelope)

Name of ADP Scheme: -

"ESTABLISHMENT / CONSTRUCTION OF REGIONAL OFFICES AT SUKKUR AND HYDERABAD AND FURNISHING OF EPA BUILDING KORANGI INDUSTRIAL AREA, KARACHI."

Name of Procuring Agency Environmental Protection Agency									
Tender Reference Number	Inf-KryNo. 2017/16 Dated: 08/May/2016								
Method of Procurement	Single Stage One Envelope Procedure								
Tender Fee/Cost of Bidding Document	<u>Rs.500/-</u>								
	Name of Firm/Bidder								
	M/s USS ENTE	M/S Yaseen Enterprise	M/S SAJID TRADERS	M/S Maxhar	M/\$ Shama	M/S ASK			
Registration with Income Tax		YES	YES	YES	YES	YES			
Department									
Registration with SRB	YES	YES	YES	YES	YES	YES			
Bank statement showing cash balance	YES	YES	YES	YES	YES	YES			
2 % Earnest money	YES	YES	YES	YES	YES	YES			
Firm has not been blacklist previously	Yes	YES	YES	YES	YES	YES			
by any executing agency									
All documents information furnished are true & correct	YES	YES	YES	YES	YES	YES			

Mubark Ali Member

MUSARRAT MOKHTAR
Deputy Director (Development)
Industries & Commerce Department

Musarrat MokhtaGovernment of Sindh

Deputy Director

Irfan Ahmed Abbasi Industries Department

Director (Admn. & Finance)
Environmental Protection Agency
Governmental Sindh

Director

Admin & Finance/Chairman



ENVIRONMENTAL PROTECTION AGENCY GOVERNMENT OF SINDH.

Inf-KryNo. 2017/16 Dated: 08/May/2016

NIT Sr. No. SPPRA Serial No.28348

Name of ADP Scheme: -

"ESTABLISHMENT / CONSTRUCTION OF REGIONAL OFFICES AT SUKKUR AND HYDERABAD AND FURNISHING OF EPA BUILDING KORANGI INDUSTRIAL AREA, KARACHI."

S	Details	cost including	all Gov	t. taxes	Nam	e of Bid	of Bidders/ Rate				
			M/S	USS	M/S	Yasee	n M/S				
			Enterp	rises	Ente	rprises	Sajid				
						Traders					
	Head: Procurement of Furn	iture & & Fix	xture								
1.	Furniture for the Auditorium at Karachi			1695	000	171985	1743200				
2.	Furniture for Meeting Hall at Karachi			365	000	37300	378600				
3.	Furniture for officers & Staff Regional offic		1578000		158500	1590000					
4.	Furniture for Establishment of Laboratorie	es at Sukkur		225000		23250	2340000				
5.	FURNITURE FOR THE CONFERENCE HALL A	AT SUKKUR		615	000	63270	641900				
6. 1	FURNITURE FOR THE MEETING HALL AT SU	IKKUR		585	000	60160	610200				
7.	Furniture for officers & Staff Regional	office Hyderabad		1858	000	186900	1876500				
8.	Furniture for Establishment of Laboratorie	es at Hyderabad		225	000	23250	2340000				
9.	FURNITURE FOR THE CONFERENCE HALL AT HYDERABAD 615000 632700						641900				
10.	FURNITURE FOR THE MEETING HALL AT HY		585000		60160	610200					
Head	d: Procurement of Equipment	& Machiner	y								
1.	Air-Conditioning Equipment for	Auditorium Hall	at	934	000	938200	942400				
1.	Karachi										
2.	Multi Media Projection System For Auc	ditorium		767,	.000	785500	802000				
3.	Audio & Visual Equipment for Meeting	ng Hall at Karachi		700,	000	718,000	730,000				
4.	Office Equipment for Regional office Sukku	r		1015	000	601600	610200				
5.	EQUIPMENTS FOR HE CONFERENCE ROOM & Meeting Hall AT 2764000 2905					2905200	2971900				
6.	Office Equipment for Regional office Hyder	abad		1015	000	601600	610200				
7.	EQUIPMENTS FOR THE CONFERENCE ROO HYDERABAD	OM & Meeting Hall	AT	2764	000	2905200	2971900				
HEA	D:RAISING OF COMPOUND WAL	L ARROUND	ГНЕ В	JILDIN	G OF	ENVIR	ONMNET				
PROF	ECTION SUKKUR										
1		M/S Ma	xhar	M/S Sh	ama	N	Λ/S ASK				
		998,470		1,086,760			,144,355				

Mubark Ali Mubassistant Director EPA Assistant Dire Member Government of Sindh

Irfan Ahmed Abbasi Director (Admn. & Finance) Deputy Director Environmental Protection Agency Industries Department

Musarrat Mokhtar Deputy Director

Government of Sindh

Admin & Finance/ Chairman